RIEREHEICRIBEBERIEED LLER

A AR LA R

IH H 7€ B EHEE g &
x& REBREWMREHE Nm/&E 980,000 196,400
ESER EXREYRGEHE Nm/&E 2,250,000 707,000
R - s B B 1,350,000 1,060,700 | FERETFEHIE
:vt\#;FHj7kE (m /E) HE§ k 1’410’000 1'295'200 -’fﬁﬁaﬁ:ﬁsij(ﬁﬁ
70  No.2#E/KkO
- 7.3 | No.4$Ek O
& >8 7.8 No5HE/KO
H 6.8 | No.8#E/k O
P 79 | No.2HEKO
- 7.9 | No.4$Ek O
& X 86 82 No5HE/KO
7.8  No.8HE/KkO
BR=E & & — —
(kg/H) = X 2,050 772
B B — —
coD - 5.6 No.2HEkE
PRI 7.7 No.4EkO
(mg/L) & X 19 6.7 Nob5HEkD
2.7 No.8HEKkO
BR=E B & — —
(kg/H) BE X — _
BOP T B — —
(mg/L) = KX — —
BRE B & — —
(kg/H) = X 3,490 600
B B — —
K ss . 24 No.2HEkD
I 11 | No.4$E/k O
= (mg/L) & X 30 20 No5#EzkO
1.5 | No.8#EskO
E5 BRE B 8 — —
(kg/H) BE X — _
%= B B — —
n—-Hex e 0.6 | No.2HE7KO
PRI = <05 No.4#kkDO
(mg/L) & X 13 <05 Nob5HEkO
<0.5 | No.8HEsk O
B B — —
_ - <0.01 | No.2#E/kH
%I/ L (éir/%) — 03 <0.01  No.4#EKO
) ’ <0.01 | No.5%EkO
<0.01 | No.8#EskO
B B — —
o 0.19  No.2HEkO
ARk e = 0.19  No.4HE/kO
(mg/L) & X S 003 | No5HEKD
0.08  No.8HE/kO
B B — —
e e <0.01 | No.2#E/kH
a = = <001 No4#Ekn
fea (mg/L) & X 02 <001 No5HEzknO
<0.01 | No.8HEskO
B B — —
. <0.01 | No.2#E/k0
NEYOL =
N = <0.01 | No.4#EkO
fea (mg/L) & X <0.02 <001 No5HEknO
<0.01 | No.8#EskO




	実績値

